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Problema 1 

int r(int *array, int length){ 
 int i; 
 for(i=0; i<length; i+=2) 
  s(&array[i], &array[i+1]); 
} 
 
int s(int *a, int *b){ 
 int aux; 
 aux = *a; 
 *a = *b; 
 *b = aux; 
} 

 

Problema 2 

Problema 3 

struct node{ 
 struct node *left; 
 struct node *right; 
 int val; 
}; 
 
int t(struct node *root){ 
 if(root == NULL) return 0; 
 return root->val + t(root->left) + t(root->right); 
} 

 

void updater(struct node *nod, int (*operation)(int, int), int father){ 
 if (nod->left!=0) updater(nod->left, operation, nod->value); 
 nod->value =operation(nod->value,father); 
 if (nod->right!=0) updater(nod->right, operation, nod->value); 
} 


